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° YA Tq I T [ FH FT-UT 7 GRT 7T 16 T FoT
30 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
30 questions.

o o707 7 I FYX 17 T4 FE T P 81 IR
& TE-TS U7 [
The Code No. on the top of the question paper

should be written by the candidate on the front page
of the answer-book.

o U F9T H TH G  J& FT @ e, F9T H HHE
v [er

Before beginning to answer a question, its Serial
Number must be written.
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o FTCYRTHE % ST F @Il g/ G 7 88

Don’t leave blank page/pages in your answer-book.

o FUykTE % akF @ o s TE Al
77 SFHAGAR & [rd 3T for@r FaT T Fe
Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GAETEl Tl T To FeT-UH T SHaed [
Candidates must write their Roll Number on the
question paper.

* U 97 F FIT 37 @ g7 I8 GEd BT [ JeT-0H
g7 g @& & e # ST 59 T 7 #HE A aar
BT TE [T AR

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G [739T -
General Instructions :

(i) @ FeT ST &
All questions are compulsory.
(i) T g B TF 3T GET G9T T

Marks of all the questions are shown against
them.

(iii) A 797 & TH G F FaT & T G0
Gr-are Jorgy
Attempt all parts of a question together.
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1 3/% TK7 F9F J97 & F7 0% T T o9F 7
&l FgAwedT oA & FaT §E [AweY  gawt
gy

Answer to each question carrying 1 mark
should not exceed more than one sentence.
Answer the multiple choice questions by
selecting correct option.

2 O7F aT FGFE F97 F IIT 30 = G FAF T
gl

Answer to each question carrying 2 marks
should not exceed 30 words.

3 H FIT J9% F97 FT FIT 40 & 60 Iz T
F T &l

Answer to each question carrying 3 marks
should not exceed 40 to 60 words.

6 # TKT F9F F97 F IT¢ 100 @ 125 Iz
G o7fe® T &l

Answer to each question carrying 6 marks
should not exceed 100 to 125 words.

(viii) 797 T&T 11 W& 26 % [T [T T 97T & @7

()

HEARE & BT ST Ge-Yikasl & & q
qogH & e

After filling the given outline map of the
India for Question Numbers 11 & 26 it
should be securely tied in the middle of the
answer-book.

TfRE] 9T 79T T o SIaeT [iE)

You must write your Roll No. on the maps.

P.T.O.
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[ iR |
[ HISTORY ] [M. M. : 25
1. SIS 97 o1 ? 1
(a1) i
(@) g H TTEE

(1) 9% ®= <o i w58
(z) e & T

What was Bastille ?

(@) Jail

(b) Capital of France

(c) The Place where Francis Revolution
occurred

(d) The king of France

2. & ¥ Y & AHRHHCT B AR fha fhar 7 1

(s) af (%)

(/) & xvI (® =)

Who introduced collectivization of agriculture in
Russia ?

(a) Lenin (b) Stalin

() Louis XVI (d) Tsar
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U % T had & ot T 7 1
(%) Restert (%) e
(|) omie e (3) e e

The book 'Mein Kamf' is written by :
(a) Hindenberg (b) Mussolini
(c) Charlotte Beradt (d) Adolf Hitler

. TER B ANUR [E § IReH # W% - 16l

&t B ? 1
(e1) Fm (@) @
(|) F=mE (x) M

Which river flows across Bastar from East to
West ?

(a) Ganga (b) Yamuna

() Indrawati (d) Godawari

. B9 29 fasg & fow A A ABA 99 W4 7 1

(a1) e (@) =
(@) Smm (x) omfw

Which country became the 'Bread Basket' of the
world ?

(a) India (b) China

() Japan (d) America

P.T.O.
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10.
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Fvs # M9 A AR AL & Re w@ o @
g7 2
Why did the poor in England oppose the
threshing machines ?

. T R S % ol a9 yEed § #E @

SEIECIMN e 2
Write any two similarities between colonial
management of the forests in Bastar and Java ?

. eI e dEeriy e gAde & g &

a1 ? 3
Why did Mahatma Gandhi condemn the
Pentangular Cricket Tournament ?

. 2 RE 7St & uRemEEy Al @ AW § -

T gRads 3w ¥ omu ? 3

What changes occurred in Women's clothing as
a result of two World Wars ?

ATeEl HST § AR ol (el &f ? e ]| 6
Explain what role did women have in Nazi
Society.

HAYAT

OR
FO § U AR A& A HE H Ues, AE q
o TR & e B
Compare the political, economic and social

conditions of France before and after the
revolution.
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11. R 70 qvag & &7 Frfed g7 AT @& @
Y - 1x4=4

On the given outline map of India show the

607

following places :

@)

(i)

ag oy forgd Te g & 2

The State where Bastar is situated.
I8 WM W@l Jsh aniel AR & TS ?

Place where scientific forestry started ?

fRISIeTE siea fhbe &ieam|

Firozshah Kotla Cricket Stadium.

I8 T el HY AR e TEE & A Ed ol
The State where Santhal and Gonds
communities people are found.

[ a0 shedy qheniiat & R |

[ For Blind Candidates Only ]

: =TI 597 9 gfcelT TOemEl & g ge7 qesr

11 F &T & - 1x4=4

The following questions are only for Blind

Candidates in lieu of question No. 11 :

@)

g} g g F Reg B 7

In which State Bastar is situated ?

P.T.O.
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(i) 9 WM & T9 g el Jee ave e
B T 7
Name the place where scientific forestry
was started.

(i) TSR Flear Brbe Ridaw wa1 Rad & ?
Where Firozshah Kotla Cricket Stadium is
stuated ?

(iv) Hu IR s wE™l & @ 6| w9 § wd
g 7
In which State Santhal and Gonds
communities people are found ?

[ TeFIfa st ]
[ POLITICAL SCIENCE ] [M. M. :20

=it & | & g uRug & @l 9ee 787 o 7
1

(91) @gm w9 oW (9) W

(@) = (%) wiE

Which of these countries is not a permanent
member of Security Council ?

(@) United States of America

(b) Russia

(c) India

(d) France
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14.

15.
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Giage gw § fhom e 9 RN 9RaE gfaas

foram ? 1
(31) 199 (@ 299
(|®) 399 @ 279

How many members had the Constituent
Assembly that wrote the Indian Constitution ?

(@) 199 (b) 299

(© 399 d 279

g fafe Sge &l SN Mg Bl o 1
(1) oA TR (@) AR g

(|) wiEeew (&) X

Who appoints Chief Electoral Commissioner ?
(@) Indian President

(b) Indian Prime Minister

(c) Cabinet

(d) Governor

Mg & § 59 31 § Afeamell & U9 dle @l

AR 7& B 7 1
(31) wa (@) iveme
(|) riRe () woal o™

P.T.O.
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17.

18.

19.

607

(10) 607

Name a country where women do not have the
Right to Vote from the following :

(@) India (b) Bangladesh
(c) Pakistan (d) Saudi Arabia

ST @ IEE B == B Y g AR & R
R 2t & 7 2

Mention any two provisions which ensure the
independency of the Election Commission.

oI dfereqet 8 & el & el Bl oo H| 2
Write any two demerits of electoral competition.

ol & Ui &1 3ol¢ W fheel @7 ®eHl B Sid

R, P HROT F9 T&T Joe el 3

Mention any three steps which were taken by

the President of Chile which led to a military

Coup.
IR dfee # Fvad w®&n ¥ ? e dlT & Ssww
EXy 3

What are the characteristics of the Indian

Constitution ? Mention any three.
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20. 9Rd & JAFEE @ SgE ikl der &R H 9o
i1 6

Explain the major powers and functions of the

Prime Minister of India.

3TeE
OR

Qe PR & w7 § THG & IRER B BE G0
frQryamt ferfemy

Write any four features of the Right to Equality

as a Fundamental Right.

[ o ]
[ GEOGRAPHY ] [M. M. : 20
21. () 9RA $ 996 [ AWK HHA-A1 S ? 1
(&) 97°25' o (@ 77°6' Yo
(|) 68°7' Yo () 82°32' Yo

The easternmost longitude of India is :
(@) 97°25'E. (b) 77°6' E.

(© 68°7' E. (d) 82°32'E.

607 P.T.O.
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(i) IR e Frfomea & @ fom Toa § R 8 7 4
(37) T (@) Yo
(@) I mw (&) s=FER

In which of the following states is the Wular
Lake located ?

(a) Rajasthan
(b) Punjab
() Uttar Pradesh

(d) Jammu & Kashmir
(i) TS BT I FPE THR H aTET § B 7 1

(%) gx (@) femer

(7) W9 (cmed)  (3) SmRCSd™ aw au

To which one of the following type of
vegetation does rubber belong to ?

(@) Tundra (b) Himalayan
(c) Tidal (d) Tropical evergreen
22. qg @ 71 ? 2

What are Tectonic Plates ?
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24.

25.

26.
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ARG & B9 gl AHET aut B e adrg 3

Give the characteristics of the monsoon rainfall
in India.

TS S iy @ ged fadvan @ e ? 3

What are the significant features of the National
Population Policy ?

g ¥ o geR & T2 9 gl a|y & 9
JART AR AYE HAE W UE TN arll aedtd & S
T 6

Name different types of vegetation found in India
and describe the vegetation of high altitudes.

RT 7w qrag # @ gERE 97 AEia @ gekid
Fifora - 1x3=3

On the given outline map of India show the
following :
(&) Pt i,
Chilka Lake,
(3) uacE &,
Mountain Forest,
(|) s =N

Ganga River.

P.T.O.
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[ a0 gRed qheiiat & R |

[ For Blind Candidates only ]

qle : [T 597 #aa FReglT qheREl & e 997 aer
26 % T 97 & - 1x3=3

27.

607

The following questions are only for Blind
Candidates in lieu of question No. 26 :

@

@)

qrd & 999 faare T &0 - ' ?

Which is the largest river basin in India ?
IR THEIT el Red &

Where Thar Desert is situated ?

Fereept it foog g | Red B 7

In which State Chilka Lake is situated ?

[ STEem |
[ ECONOMICS ] [M.M.: 15
T & ¥ HH-91 IR & e T8 8 7 1

(s1) (@) =i
(@) dred (x) «fmp
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Which of the following is not a factor of
production ?

(a) Land (b) Machine

() Lottery (d) Labour
(i) e @, T AT HA T 1
ACURRELLY

Poverty line measures .............. .

(Poverty/Unemployment)

(i) $FX T IUEH I o (el )
Tractor is a productive commodity.

(True/False)
(iv) 9" & fpe w9 ¥ wew ot fdwar o
S ® 7 1

Which State of India has highest poverty ?

28. T YOI A AEEF & ¢ 2

Why food security is necessary ?

29. UEHYR ¥ FN G & FEHM TR S A Hio 3

Explain the unequal distribution of agricultural

Land in Palampur.
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30. fear Y@ @ o9 ;U gHIA B ? 3@ &9 T o

ghar & 7 2+4=6

What is poverty line ? How it is measured ?
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